M

HEAAKRE 76 $FEEAAER(E 2 F KW G/ 5

/. (&) Exle‘n why an electric freld must exst n a graded semiconductor.
(b) What /s meant by the m,'nor.'f-g- carrier Storage time of & diode ?
¢) Is |Vgecsan| grealer or less than [Vegcsan| 'n a silicon Transistor 2 Explain

L{() How is an aluminum contact made with /Z—fy/’e silicon so that It (s
ohmic ? Explain .

2. Q) Draw 4 posibive NOR DCTL cireuit with a fan-in of 3 and a fan-ouT of
2. List +he a/{mn‘/‘qfes of DCTL 34‘/25,
b)) Write the decimal number 264 in the natural BCD s;ys‘lém. Compare the

resolution of +his BCD code with that of @ STm:‘7/:7‘ b.‘rmrg code haviig same
bits. '

(¢) Draw the block diagram of a tfour stage Fipple counter. By what
humber AN does +his fﬂffem d.'?j.‘ple ? fe PP d =

A Drmauw +he circuit of & MOS NOT circuit with a de/oleTfM load. Stketeh
the 'anSfer- character'stic if the load FET has a much In'-7’1€r‘ rsislance

3. La) Skelch the circuit of a &—-MOSFET st.zT,‘a_ RAH cell, and ﬁﬁ”/""" its
ofwmﬁon br,‘efly.

tb) Explain how To cbtain lead compensation in an inverfing OP AHP,

(&) Kkelch an inverting Schmitt ‘/'r.‘?fep/ and ifx ‘h—qn,rﬂr— characteristic .

M) Déf ine Intermody |ation distortion :

4_ Assume /)fe =50 and hez=/ | ka for the. amplifie~ shown in Ffﬁ- l.

Compute Ar=To/I1:, Av, Avs, and R:, Neglect the reactarce of Cb
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1 81 For the anplifier shown in Fig.2, caleulate the Woifage gaia Ad =Vo/(a=V,) .






